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Answer any five questions
All questions carry equal marks

Draw the V-I characteristics of power BJT-and explain. -
Dmeuss brleﬂy about various gate dqve mrcunts of MOSFET

How uJT works asa tngger source? Explam
Explain various commercial ratings of thyristor. [8+7]

Explain the operation of single phase dual converter with neat circuit.

,:calculate Ioad lmpedance and Ioad voltage,, , e [8+7]

Explain the working of single phase half controlled converter with RL load.
A three phase half wave thyristor controlled converter delivers power to a delta
connected load of 20Q. Compute the power delivered to load for an AC input voltage
of 230V at the firing angle (i) 60° and (u) 900 [8+7]
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converter.

A buck converter is operated at a duty cycle of 0.8. The load resistance is 5 Q, the coil
reactance of the inductance is 1.5Q, and the resistance of the filter capacitor is 0.1Q.
Determme the voltage gain of the converter. [8+7]
ﬁmlaln the operatmn of buck—boost Qonverter with'| neat sketch LN /
/A boostconverter is operatmg at a switching frequency of 2 kHz: The: mput voltage is®
20 V. Assuming ideal filter inductor and capacitors, determine the average output
voltage and average output current. Given the duty ratio as 0.8 and the load resistance is

10Q2. [8+7]

Explain the operatlon of single phase bridge inverter with RL load. 1o e s

Dlscuss m detall about multlple puise W1dth modulatlon A |
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Dlscuss about the mrculatmg current mode of operation of cyclo converter

A single phase full wave AC voltage controller operated from 110V, 60 Hz mains

su;oaplies an R-L load having R = 5Q and L = 25 mH. The firing angle of thyristors is
0". Determine the output voltage and current. [8+7]
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